tr’aﬁ@?

Assembly Instruction

Oakdesk

Page

1of 1

Fasten the wooden legs with
8 x screws size M6x30

An extra gutter is placed in the

middle for cabling

connection plate and
8 x screw size M8x10

Screw M8x10

asten the middle beam with the silver

Do not first tight these
screws, until last screw
piece twisted into motor.

NO.1 NO.2 NO.3
Nr. Name Quantity
W
1 Screw M6x30 8
5 Silver connection 4
plate
Z 3 | Screw M8x10 8
‘I\ 4 Screw M6x30 8
5 Steel shell % 2
N S
6 Plastic cover 2
Install plastic
side covers with 3
W
same desk frame 7 Screw M8x10 4
screws and put A
into steel shell 8 Worktop screws )))))))m)" 6

before covering
table top.

NO.4

NO.5




	图纸和视图
	YOPYE布局


